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1. $ixna* Laspeyres

Pi =1PnQo  x 100

zPnQo

2.9mlJ Paasche

Pi = XPnQn  x 100

XPoQn
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il  w.d. tidGSlR7 5mals~u,~acx)

__-_-~-~---______--_____________________-------

2529 100.0

2530 102.5

2531 106.4

2532 112.1

2533 118.8

2534 125.6

2535 130.8

2536 135.1

2537 141.9

2538 150.1

2539 156.8

2540 167.7

2541 181.3
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3.8

5.4

6.0

5.7

4.1
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5 . 0

5.n

5.8

5 . ti

8.1
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P IzEl530 { (P,,,, - PEG,,*) ’ p,,,, 1 x 100

= t (102.5 - 100.0) / 100.0 I x 100

= { 2.5 / 100 1 x 100

%-141L-hL&~(~)d 2530 = 2.5 %
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P a E
2520 1 0 20 12

2521 1 1 22 14

2522 12 25 15

2523 14 26 17

2524 16 28 20

2525 1 9 30 22

2526 22 32 25

2527 25 35 28

2528 28 40 30

Q__

25

28

32

34

38

42

45

48

50

p a-
14 30

16 32

18 35

22 40

25 45

28 50

30 60

32 65

35 70

EC 314 15



&6i'3lnd  2521 Liil-6ifi.l  2524 Li%d&lU = (58.55 x 114.131 / 100

= 66.83
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RCB = NCB
P
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